BT ETAKER KESBZEHARSAUICEDSERIBE (P1) SHN3IFE
BiE 5% | X9 | &S PI%& R2 PIFtE1E R3 PIFtE1E [==1iv) 2= FtER
A101 |FIOREBIERERE 0.38 0.38 (mg/L) BRERIEREEATY RBIERATEE
A102 |BRAHEEYEREKEEER 60.0 30.0 (&, ((Ii)g #) 2-AF)LA YRILRA—IL (BAHE SMEER KEEEE) x 100
A103 (¥ RU\OXY VEEKEEER 15.0 13.0 (%) (2 $87KARDFAMNINI VR $87KARER) / KEE#AEX 100
A104 |B# (TOC) BE/KEEELE 16.7 20.0 (%) (2 #a7kieDEtY) (TOC) BE/fA/KIEER) //KEE%EX 100
A105 R KRR 20.0 20.0 (e, ((I)/EO)E #) ERERVZDEY (3 MR DEHERBIRE 1a7kieL)) / KEE%EX 100
K& - . (18, IBE®=) R o - - §
- esym | A106 BB R K BRI R 14.3 14.2 (%) FILS I, V/Jr‘iy'jAﬁ(ﬁErg:) (2 HE7KIR DA R BRI $67KARER) / AKEEEME X 100
2 MEERE X, oo X—1,2-
T | @ AL107 |EHMESYIE R KR R 0.0 0.0 (8, BEZ) | OOOIFL> STOOXTZ T o e st mRe ki) / KEEEEx 100
B | zm (%) I\DODDI‘?I/) ~NUoOOITF
= R — LY RIS 1,4-TAFHS
P A108 |SHESEIERYIEE KERLE T 13.3 13.3 = (0;;) OO (2 Ha7KIR DM BRI AR MK ER) / K EE#EAE X 100
S A109 |EEEE KESIEEEL 0.000 0.000 - 114165 max =(Xij/GVj )
A201 |E/KKEERE 181 181 (1ER) B OKEERIARL
ss | A202 |[#EKISKEIRE (BH) EPTEE 5.2 5.2 (&7F/100 km?) (fKERE (BH) FOKERE/BITEKERE)* 100
wgp | A203 |BKBERESEE 41.3 31.5 (%) (5HEMICER LRGBS E / BRCHEMSR) x 100
A204 |EfEHaKE 98.6 98.6 (%) (EFEHEIRAF B HEKAEER) X 100
A205 |BF/KiEKEEER 13.6 10.1 (%) (BF/KIBKEHE 2R / BTKIE/KiEER) x 100
Hi | A301 |KFEDKESHEEL 0 0 () FRIKBUK BB
sz | A302 [BEERMIELLE 50.9 65.0 (%) (DB IR ERIIB KR/ R 27K R ) x 100
ket s | A401 |RABUAKER 3.9 3.7 (%) (SABUBK BB/ FEKIEFER) x 100
B101 |HCHFEENKERE 66.6 66.6 (%) (BCREKEKER/2KEKE)x100
B103 [HiTF/KZE 20.0 18.5 (%) (M TF7kIBkE / FRIEUVKE)x100
B104 |MEsRFIM= 67.0 65.5 (%) (—E PR/ MER2EE) X 100
B105 |BAHRMENER 78.0 72.6 (%) (—ERABUKE/MEREES) x 100
B106 &7 85.8 90.2 (%) (—EFEKER/—BRARKE)x 100
B107 |EUKEBEERE 7.9 7.9 (km/km?) Bt/ K &I /IR AT /KRS
B108 |&Eis=iazk 35.1 35.6 (%) (BRUSHIEER / SBIEER) x 100
& [ B109 [/ULT &&= 39.3 37.9 (%) (BRUZ/ULTE [ JULTREE) x 100
&I | B110 [R/k= 6.3 5.7 (%) (FERIR/KE / ERIE/KE) x 100
Blll |[B%= 92.5 93.1 (%) (FERVERIKE / FERIEKE) x 100
B112 |[BIN= 90.4 91.0 (%) (FERIBINK B/ AERIBRKE ) X 100
B113 |Ee/K:tATEREE 0.86 0.88 (=) RKhENEE/— 0 OKE
B114 [{AKAO—ASDEKE 319 313 (L/8-A) (—E 9B E/BAERKAL) 1,000
B115 [#a/KHIBREAZK 0 0 (=) ERIEKHIRE 2
B116 |#AKE/RE 99.6 99.6 (%) (BAER/K AD/#8K R IEPIA L) X 100
B117 |E=ia=M= 40.2 40.2 (%) (RIS S Het, B - ST DEETER) x 100
i B201 [FKiBHHEIS 0.04 0.04 (/10 & - &Ff) 10ERI DSBS BHALY / 27kI5ER
=] B202 |StRBSHIKACOSR 3.3 3.1 (%) (SIS HTKAO/RAERKAD)x 100
B203 [k AO— ALz DETERERRIKE 138 139 (L/A) (BB EEX1/2 + B2E/KBEE)x1,000/BEEKAD
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BiE o4 | Xn | &S PI%& R2 PIZTE(E R3 PIstEfE =<1y w5 HER
B204 |BBOBHEIS 0.9 0.9 (##/100 km) BISDBHIFE /( ERLEE/100)
Fi8 | B205 |EHBHEOBHIE 0.0 0.6 (14/100 km) ERSmOBH L/ (ERERIELS/100)
KE | B206 |HEEROBHIE 0.4 0.6 (/100 km) PREROBMEE / (REERLE/100)
xtk | B207 |FEBAEIEROBHES 3.0 2.0 (/100 km) IFRBER DB / GHXEERIEE/100)
B208 [{AKEDBEHZEE 1.7 1.6 (#4/1,000 ) KB OB / (WK 1,000)
B209 [#A7K AO— A7z OEIHK - BHKEERS 0.00 0.01 (B5R8) (K - SBIKEERT x WK - B/KEISAK AL / BEMSKAD
B210 [SExisRIIEEMEEER 3 2 (B &) FRID K E I RN REATEL
7 B211 [HAieREEE 6.1 6.1 (&/km) SEANARE / BUKSIER
E B301 |Ei/kEBim3 HiznEHNES 0.29 0.28 (kWh/m?) ENHTFHIRR BHEABROEE / FRIEKE
L B302 |BE/KE1m3 HizDEBIRILF— 2.81 2.69 (MI/m?) TRILFE—NEE [ ERRKE
= B | p3o3 | mim3 HEDZRERE (CO,) 105 108 (g - COy/m?) [ZEELAR (CO2) HREE / ERIAKRE] x 10°
o B304 |B4&olfeTRILF—FIBE 0.000 0.000 (%) BIBF2HTRE (BEAEIRILF—RREOBHERE / 2IEROBHERE) x 100
#t B305 [#kFEELTOEMFIAR 46.0 48.6 (%) (EFIFALE / BKRELE) x 100
@ | B306 [@REENODUSAHILE 100.0 100.0 (%) (UBA DI EN-RREIENE | RREIEWFER) x 100
Tt | B401 |9 045 ILEERE - HEXR 78.4 78.3 (%) (9091 B EEE + MELE) / SWEE] x 100
&’ | B402 |[BIROFRE 0.09 0.04 (%) (REIER/BIER) <100
B501 [EEMAEREBBIKIERE 33.5 33.5 (%) (CEEMMEERZ T\ BSEKHEREED/ 278 KHERAE ) x 100
s | BS02 | MR AR R 32.3 32.3 (%) ;;;mg;ﬂif;;ff;ﬁgf 100 R COBHEY
@37 | B503 [EEMAFESBAERE 27.0 28.8 (%) CAEMAESERR T\ 3 EIRIEE/SIIES)x 100
B504 |BWOEHE 0.58 0.49 (%) (B N - ERIEE/EWIEE) <100
B505 |BWOBEER 0.000 0.000 (%) (BESN SRR/ SIER) <100
B601 |RHERIDEUKFNEE 9.1 9.1 (%) (BUKREEAE /28 K HEEAE ) x 100
B602 [FKiEROTRILE 11.6 11.6 (%) (TR R DR S =R KHBERRE /2% K HEREE ) x 100
B602-2 [ KIBRRDE B EITHR(LE 35.0 35.0 (%) Eﬁ%ﬁ;j’jfzz;?z;@]mii?m“73 FORDHIROMEILE
- B603 |[R> TFROMEILE 12.8 12.8 (%) (SRS N TR TAEES /MR SR TFiEEN)x 100
- B604 |E/HOMEILE 43.6 53.4 (%) (MEEOEEN RS B/ SaEE) <100
= B605 |ZEEOMESR 11.8 12.5 (%) (WEBER/EHRIER)x100
B606 |EHBROMEEE 24.1 25.0 (%) (EREROS SMESEE/EHERIEER) 100
£ | B606-2 | EREROMEESE 31.1 32.0 (%) (EREBROS SMEES DG 3 EBLE/ERERIER) <100
KE | B607 |BEBMAKIEREKEROMEER 20.5 22.0 (%) (EERKEREUKERDS STHEELE/ BB N ESIKEBER) <100
5 | 5607-2| BB KR EEOTERAE 272 287 %) Eigﬁsmﬁge@a;@ﬁm5sm%ﬁe'mm%ﬁgﬁﬁ/igﬁemﬁﬁmam
BIRIER) %100
B608 |EEIAIKEREE 104.9 107.3 (%) (SRR ST (CHER C = BEKAES)/— B FIBUKE) x 100
e e (PR TR R — O PR E) X (3 (PR AR e r—
B609 |ERREEK 40.7 40.5 (2) o T N
B610 |BReMRER 0.56 0.6 (E) TSR/ — DR E
B611 |ISEfaKiEREE 1.4 1.4 (EFR/100 km?) TS EAK HEER A/ (IRAES&/K TS/ 100)
B612 [{AKEREE 0.006 0.006 (B/1,000 A) | BOEF2A=R fEKEEE (BAERAZK A1/1,000)
B613 |E&HMADIARKSY > IREE 0.030 0.031 (m3/1,000 A) |B¥EF2A4TERT ERABKY > IDEE/(167K A0/1,000)
C101 |EZNIE= 110.2 120.6 (%) (BRI ZIETHIG)/ (BEEM- SEISHE) 1x 100
C102 |@BiUNstt= 127.3 127.5 (%) [(E22UNGS + EINNES )/ (B2 + EEIMER) X 100
C103 |#UNZtt= 127.3 127.5 (%) (HAURZS /%) x 100
Cl04 |RERIEEHLE 0.0 0.0 (%) [(RHERIES/ (BRI — ZEETBINS)]x 100

2/4R=2




BiE

M A WS B m

NE | X5 | BS PI%& R2 PIZtE1E R3 PIFtE1E ==tv) 23 &
C105 [ASIE=R (UINZSHIUIASY) 9.0 0.5 (%) (IEEIERAD/IRSHIUA ) x 100
C106 [BASIER (BAKUIAS) 36.1 22.2 (%) (BARERAS/EARMINAGT)*100
C107 [BEE— A7z DHZKUNZS 96,087 123,304 (FH/AN) KNGS 1% B PR S 2K
C108 [#A7KINZS (T T BB HREBDEES 10.9 8.7 (%) (BE#A58/1AKIRZE) x 100
C109 [#A/KINZSICx T B EEFE DS 3.5 2.7 (%) ({REAEF S/ #A7KIRZE) x 100
C110 [#A/KUNZS (T3 BIRMMENBDEES 35.9 31.0 (%) CRUTEENES /487K N2 ) x 100
TN (S T DERRE D= H DT
C111 :k {43_ * Tﬁ ERER * 13.7 11.7 (%) (SRR DD EEER TS/ 1K) x 100
BEEETEDRS
C112 [#A/KINZS(CxI 3 B EEERESDIS 221.0 186.1 (%) (REERS/HEKIRES) x 100
I B2 | C113 |BSmEURER 109.1 121.6 (%) (Bl 4a7K Bl x 100
I gﬁ
C114 |{HHAEE( 149.3 183.3 (FA/m?3) fBKUNZS/ ERIBIUK S
[(REERA- (Tt 1B8+ MTRROABR RN+ e BEE+ RS
A 3
C115 |4a7K/E 136.8 150.7 (F/m") SRA)] /ERIEIKE
C116 |1H'H10 m*Yf DREMARIE 1,032 1,032 () 1 hAL0M Y= DRERRE
C117 |[1H820 m Yz DREARS 2,836 2,836 () 1 M A20m> Lz DREMRIS
C118 |REhtL= 244.9 310.1 (%) (REBNEE/REEME)*100
C119 |BHCEABRIL= 73.6 74.7 (%) [(BAS+EIRS+FHMIEE0 & HBEIR)/ & - E48a5t]x 100
C120 |ElEr= 120.8 117.8 (%) [BEEE/(BAS+EIRS+FHIEEE0 & HEEIRE)]x 100
X ERWRDHDOREE SR TS/ (LEERMTENE-EREeR
P P S —— - 38 %) [lﬁaogaﬁza DI EE R TS/ (L EEHEE - RIS SRA) ] x
C122 |EEBELEEE 0.12 0.14 (&) (BRI - RTINS/ [(PEEEEE + PREEEE)/2]
C123 |EEBEERME 8.5 8.1 (m3/7H) FRBUKE/ AR EEEE
C124 [BiE—ALzDBEIUkE 644,000 673,000 (m3/N) BOMEMEEA FEREIVKE / BN EFERE
C125 |[Bl&mEREnzEs 0.01 0.02 (#4/1,000 1) ERDERIE / (R2EREE/1,000)
C126 |[BISUUARZ= 99.3 99.4 (%) (R AR S58) x 100
C127 [#aKELEES 10.3 11.1 (#4/1,000 1) HKISIEAFE / (#87K4F#8/1,000)
C201 |/KERHMTCRI T D EREVSE 2.22 2.46 (/N) BENEVE L T BKERMICRE T B &8 / £MEX
gt | G202 |SHERERERSRS 2.8 3.0 (B5RI/A) (BB EDIHEZ SIS TERRIXZBAL) / 2B
M- | | C203 |pospERERERS 1.1 0.2 (B5RI/A) (BENREIMEE 2T TR x ZBAL) / 2WEHK
At | P C204 |HitiihE = 26.7 28.7 (%) (RS / £MEX) x 100
C205 |/KEEFHETIRERES 12.2 12.2 (E/N) BEDKEEISRRER / 2WEXR
75 | C301 |[#REtHEIE=R 100.0 100.0 (%) (BEUTKBEA—5—3 / KEX—5—%EH) x 100
tasp | C401 |IRIRESIC & BEIROHE 2.6 1.7 (8D/45) I3RS & DEREDE / HaKIEER
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BE 9% || X5 | &5 PI& R2 PIZtE1E R3 PIZtE1E BAfi] 23 stE
- %@ C402 |A>H—FRv NI KLBIBERDIZEE 30 2 (@) DI IR—SADBEEE
FoD C403 |KEMRRFEIE 2.0 3.2 (A/1,000 A) |BR#EF2ATRR BEEs / (RIEHKAD/1,000)
Q=a C501 |(E=%ZEl& 0.006 0.015 (A/1,000 A) | BR#EF2ATRR EZH A/ (RIEFAKAO/1,000)
—»_| =8 C502 | 7> — NBHRINEEIS 0.01 0.02 (A/1,000 A) 72— NEEASE / (RTERKAL/1,000)
Soo| e C504 |/kKEHY—EXICHTIHBERICEE 0.00 0.00 (f4/1,000 14) TKiEH — EXEIER SR / (faK4H48/1,000)
C505 [KE(CHWIBEHIBHICEIS 0.25 0.18 (f4/1,000 14) IKEEERAE / (¥6K441/1,000)
C506 |/KERE(CH T DHBENGES 0.00 0.00 (f4/1,000 14) HEREHER ML / (fa7K14£4/1,000)
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